VESSEL

ESD YYh7—=AFY b

No. EPS-GK
EURGREAE

CERDRICCOEIRRAZEZEZHHIEE N WOTEBRTEDILSHREL TS L,

&

ARG BEUIYNMIIFUYRI-ReEE I 220
OFYRTY. (ABOBBRFTIYNIERT, 2Ty
T30 RI-REEELEY.

SR
O3> RI-RICIF 1 MQOEFRHIPRIEIEREL T
[AF-
OIFBELHIBVZD., Iy N IBRIFICBFI AN EIEET
9,
ne:
OFE: J390R1-R1MQ
OME: NBHF: &R XFvTh/\—: PVC
ZFyF: SUS. I—RiK7E: PU
SRS F: SUS. R=2FL—h: SUS
+FFUSM/IMAL: SUS
OF39>RI-RES: 2.4m
OJ—R&EFHAX: 0.5mm? (AWG20)
OfBRAAIEERIYYNEH: 2mm~3mm
OROHS2 #&#&
ERASE
()RR RFTIYMEIITEIREE T,

* XY RO TFICEVMRZ BV TIEREL TIZ2W, FEEE IR I 278N

oUESN

(QUTBIRWENEZXFTYTER-Z TR FHCH. FBD M4

RUTEELEY,
* EEEERPICHNDTENBNED, UohDEREHT ATIZEL,

(3)739>RI-ROZFYTEIY S EOZFYTIEIDAHE

ER
(4)y eI 3> RI- REOESUBZERLET .

* AUTEICAREUESSH (4t SRC-01 3B YR EAIKIERL
(5)739>R1—RoimF et RICIELERRLET .

RN\ TIL

ATEER

B /)57 RI—- R 1B s (CIEH L TR
Lo

/57> RI— ROEDEHRIFURNTIZE L,

B8, ERORIC®I Y -F59> RO—R
OIEFIZATEL. IRITEZHESRL T2, BIEIK
MBS DISEHMERULRVTIZE,

m IKEOMESRFTERRRICITO T,

B /739> RI-RICEAKREDRD 1 MQOERF
PRIEFTZ AL TOWEIH, fERRBHLEDTHEIRICIE
HEAIUBOESISEEL TS,

B AR REDFRUBELRVTIEEN,, BHOED
REERDET,

B39 RI— RERFYTER =TT TSRS W, O
—Rz5[5RBEMTHRDIERIERDE T,

B APBEOEROBBIBACT I RI-RRE
URWTLIZE W, BIRROBR BB ORE ERDE S .
m3mm %ZBX3EHFOEEMNIY N CEROSBS

(&, Bli& M4 QIR EZEE AL,

NEHF
FHEP4.3mm

,/

/E&@ﬁ
v &=
¢10mm

BEHRSHLSOERO (REMFE)

>u-3-1 0120-999-914

9:00-17:00 #xt-B-HwBRFREET

ES #t T537-0001 ABRMEMEFIIL2T B17&255 TEL.06-6976-7771 FAX.06-6971-1309
IR X 5 T143-0025 RR#BABRAERASTH43&E 135 TEL.03-3776-1831 FAX.03-3776-5607
K PR % /& T537-0001 ARRMRERRTIIL2TE17&255 TEL.06-6976-7771 FAX.06-6971-1309
REBEEM T457-0014 2BEMARERNT B3E 1S TEL.052-821-9575 FAX.052-824-4167
BEE%¥PT T812-0016 ERAMESXEZEREET B1&E225 TEL.092-411-5710 FAX.092-411-5770
HLIRIRAT T0B5-0011 ALIRMREIL115%R14TB1&E1S TEL.011-711-5003 FAX.011-704-4725
B HRAT TO84-0002 IlETHEMEHEIR1THEH2E10S TEL.022-236-1567 FAX.022-232-7959
[REHERAT T733-0035 LETBEREXME&E S 7 T BE8-11 TEL082-291-0106 FAX.082-295-1727

www.vessel.co.jp/




VESSEL

ESD Mat Grounding Kit

No. EPS-GK

Instruction manual

Please read this instruction thoroughly before using the product

Application

EPS-GK is a kit for installing a grounding
cord onto an ESD mat. Make a thru hole
with the punch, and attach the grounding
cord to a mat with the snap.

Overview

O Grounding cord contains a 1M Ohm
resistor for operator safety

OCan easily be detached and reused when
replacing mats.

Specification
OBuild-in resistor size: 1M Ohm
OMaterials: Contact: Brass, Snap cover: PVC
Snap: SUS, Cord insulation: PU
Single-use punch: SUS
Base plate: SUS, M4 screw: SUS
OGrounding code length: 2.4m
OConductor size: 0.5mm? (AWG20)
OApplicable mat thickness: 2 = 3mm
ORO0OHS2 compliant

Direction

(1) Punch out a mat with a single-use punch.
*Place a steel plate underneath the mat to avoid
damages to the work table.

(2) Sandwich the mat with the snap and the
base plate, and tighten with a M4 screw.

(3) Connect the grounding cord with the snap
on the mat.

(4) Check the resistance value between the

mat and the end of the ground cord.
*Use surface resistance checker for the resistance
measurement. (VESSEL SRC-01 is recommended)

(5) Connect the cord to the ground point
properly.

Acautions

m Make sure to connect the grounding cord to
the ground point.

m Do not connect multiple grounding cords in
series.

m Test and check the resistance value between
mat surface and grounding cord-end, before
start operation. Abort an operation when
tested value is out of range.

m Check the resistance value periodically.

mThe grounding cord is equipped with a 1M
Ohm resistor for personnel protection,
however, do not attempt to touch a power
supply.

m Do not disassemble nor modify the product.
It may cause electric shocks, or injury.

m Do not pull the grounding cord when
detaching. It may cause a wire disconnection.
Hold the snap to detach the cord.

m Do not step on the cord. It may cause a wire
disconnection.

® When using 3mm or thicker mat, please
separately purchase an M4 screw in desired
length.

/

Contact
1.D. 4.3mm

o

M4 screw
Snap @
@10mm &

g
@Base plate

Ground cord
2.4m

VESSEL Co., Inc.

17-25, Fukae-kita 2-chome, Higashinari-ku, Osaka 537-0001 JAPAN
Tel : +81(0)6 6976 7778  Fax : +81(0)6 6972 9441

E-mail : export@vessel.co.jp URL : vessel.co.jp/english/

2019.06.29




